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SOMETIMES THERE WILL BE A DECIMAL IN THE DIVISOR.

 YOU CAN NOT HAVE A DECIMAL
 IN THE NUMBER ON THE
 OUTSIDE. YOU NEED TO MOVE 
 IT COMPLETELY TO THE RIGHT.

 WHATEVER YOU DO TO THE
 DECIMAL ON THE OUTSIDE,
 YOU HAVE TO DO THE EXACT
 SAME THING TO THE INSIDE.

 BRING THE DECIMAL
 STRAIGHT UP AND DIVIDE.        2.8
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SOMETIMES THERE WILL BE NO DECIMAL IN THE DIVIDEND.

 REMEMBER, NO
 DECIMALS ON THE
 OUTSIDE AND
 WHATEVER YOU DO
 TO THE OUTSIDE YOU
 DO TO THE INSIDE.  IF YOU DO NOT SEE A

 DECIMAL, IT'S AT THE END OF
 THE NUMBER (FAR RIGHT).
 EXAMPLES:
 6 = 6. OR 57 = 57. OR 109 = 109.

 MOVE THE DECIMAL TWO
 PLACES ON THE OUTSIDE
 AND TWO PLACES IN THE
 INSIDE, BUT SINCE THERE
 ARE NO MORE DIGITS YOU
 WILL HAVE TO ADD 0's.     1850
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